EARAROBEEIERT — 2 N— IBISH —F

2017878178 (A) 3E@#1H

mkﬁﬁi’ﬂ) FigEsde C2=M 45 R—# EEE R
[A&4£] 1 #&:1,100,000  ~ 2 #%:385,000 3 3 7#&:220,000 3 ~ 4 #%:165,000 @ 5 7 :110,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1l 3/ 78—X 5 | BIR 1:36.2 1-1-1-1 387 — | 2 | 436 :J;éﬁ%:;z ()
. — BIEE]
:ANFXTNYT By d-ILK ) -6) b IN
1 6 IR 7 | BHE (11:316/.25) 4-4-22 (38.7| — | 1 | 482 /ng)?f;i; QEE)
RimAL5F4mR B:AFa0 O ' §E #a
slzlg|r17c—7==n o4 3%§A 1:(357>.4 2-2-3-3 |39.7| — | 8 | 477 ﬁiiﬁzﬁi—?%g
RBLAA YR - BZ—Z v TFHLF (IR NG
N > DI UEA o4 %%Eiﬂ— 1(:33/{4.)6 6-6-6-6 |38.8| — | 6 | 427 f;ﬁ%% (1)
LULIATIALK B HITR 1T 2 |gx @
5155 NS4OaAvF i 4 u.nﬂ%sﬁ:t (11:317/.29) 5-5-5-4 |39.6 | — 3 477 %g;%éz_(l;l%)xf_l\
L:24—1)>rya-x B:vrio—-x #2) Ebr e
5 4| Ty rETR # o4 gﬁéﬁ%m#ﬁ 1(:33/84.)1 8-8-8-7 [38.6 — | 4 | 479 I(;ﬁi;*iﬁ I(E*?ﬂ)/ .
QiELL R EE BE—TT Ty ) | 1w per
7178 7Wx07T i 5 Zﬁ%ﬂﬁﬁ (11318/2?3 7-7-7-8 |39.0| — 7| a2 ’Eﬁ% ()
QAREXY BTAEAETS 00| mppapss
glgliy| 2%V 4 159?%%@)& 1(:13/%)4 9999 [38.6| — | 5 | 459 iﬂrﬂi (1)
QT RIAHAT—> BTLAXHFITIN ) X5 1 7 ss
9 7| R=T 12 TIRR 4 @5@5%331@ (11:318/.26) 10-10-10-10| 38.2 | — | 10 | 467 ﬁﬁ%ﬁ (;a%0)
R:F(—FAHA BIU—€RLR R i X
wlil1|7ov®k H 5 #%?g?‘gﬁ 1:(318).8 3-3-4-5 | 40.7| — 9 480 ?;5%—? (1)
T RRAVT w8y BAE)—XA4T2— (-2) Ee
11l8l10| 2>/Sy ¥ a > #o4 | FdEa e Ll K R B Wi G
QT e INRS Y b By ALy K t10) | s stagig
® I —F—@EBIERL
13-7— [3,9,1,6,52,8,4,11,7,10
23|=7r= 3,9,1,6,5,2,8,4,11,7,10
3a—+— [3,6,9,1,52,8,4,11,7,10
40—+ — 3,6,9,5,1,2,4,8,11,7,10
[ N3
H OB 3 430/ 714K 3-6 370M % E 3-6 570M 3EHE 3-6-9 3,420
B 3 160M 3-9 1,820 | | # & 3-6 1,650/ | | Sy 3-6-9 14,060
6 110 6-9 1,020M B E 3-6 690
9 460M B H 3-6 1,570

ABICOVWTRDTEEERROODE. TR LIV,




